3/4

Warm Up

Write the following equation in Standard Form:
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Homework Questions?
Why Did Miss Muffet Need A Road Map?

Graph any equation below. (Let each space along the axes represent 1 unit.) The graph,
if extended, will cross a letter. Look for this letter in the string of |etters near the bottom
of the page and CROSS IT OUT each time it appears. When you finish, write the letters
that have NOT been crossed out in the rectangle at the bottom of the page.
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Vocab

Solution: X coovdinate pair vdnen suvstukd
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Symbolically:

You may be asked to solve something

"symbolically.”
v NN
That just means to solve using Algebra.
(U U



1 Booster Club Members

Intersecting Lines

Ata school band concert, Christopher and Celine sell memberships for
the band’s booster club. An adult membership costs $10, and astudent
m&m\b;cs]lm_t/sis At ﬂle:mments had SOl?V\

50 memberships for a total of $400 The club president asked, / (515

What we

. Ho“'/%rﬁy of the new me]ﬁ‘ﬂ&g are adults and how many are students?

You can answer the question by writing and solving equations that U\M\V)" 1o
represent the question and the given information. F; ﬁMVC 0 I/\f-

Define our vaviables
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Lef 6. H#of Shadent remberships
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Problem.

) Letarepresent the number of $10 adult memberships and s represent the
number of $5 student memberships.

1. What equation relates @ and s to the $400 income total? Explam what
each term of the equation represents. Lf}l' ’Hf 0‘ q C\U\ H—

2. Find three solutions for your equation from part (1). wmb(y%‘ ?5

3. What equation relatesa andc s to the total'of 50 new members?

Explain what each rm of the equatlon represents. d_ ,ﬂ 0( 3\,“ 0\ Cn_\.
4. Find Ldee solut\:s fo qrour e$uanon frorrjart (3) % ba Sh D4
5. Are there ah)\) b? p atisfy both equanons? \)

(® 1. Graph the two equations from
Question A on a grid like the one atthg g,
right. Does it matter which variable g
goes on which axis? Explain. N 60

£ S50

2. Determine the coordinates of the
intersection point. Explain what the
coordinates tell you about the numbegg 20
of adult and student memberships sold.

0 20 40 60 80 -
3. Could there be a common solution for O‘f 0'\6{11\’ t N\C“\'X/Shlf\

the two equations that is not shown on your graph? #

4. Describe situations you have studied in previous Units that are similar
to this Problem.

The two equations you wrote to model the conditions of this Problem are called
a system of linear equations. The coordinates of the intersection point satisfy
both equations. These coordinates are the solution of the system.



(® Use graphic ozsymbalic methods to solve each system of linear equations.
Check your answer.

1. x+y=4andx—y= -2 2. 2x+y=—-landx—2y=7
3. 2x+y=3and —4x+2y=6 4. —2x+y=3and —4x+2y=10

Graph using grids supplied.



Homework

Finish classwork



